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+3.6 m)
TN R —
I T A
65KV ¥ AT | VT
BELEy &
NEA =
104 1 Bk A HB

(VOLVER-£7 %) 11.99
(JAL-HHFE)12.11
BRTA)=b077 550 12. 24
(BFHHAFEH)12.35
(BEFH AT i) 12. 80

(VOLVER- %7 ) 11. 74
(HETA)-317758) 11. 84
(JAL-#%)12.15
(BFHAF B/ 12.19
(BFH AT i) 12. 55

kyT7R)—kL—X

(VOLVER-#5 %) 10. 28
(FRET-ZHE)10.30
GERMSEER T 10. 31
(TeamAccel - T2£) 10. 59
(NTN-=H)10.69
(M RETRI - HOR) R 35

54 72 (2%H)

(1#H] (
1[ 5]
2[ 4]
3[ 3]
41 6]

+2.7 m)
O~ A
8E I =i
TN R —
NE KR =HiE

(FRET-THE)10. 34
(TeamAccel * T2) 10. 50
(VOLVER-#5 %) 10. 63
(NTN-=H)10.74

100m 34 7I)L1 (2%8)

[24H]
1[ 6]
2[ 4]
3[ 3]
41 5]
50 7]

[248]
1[ 6]
2[ 4]
3[ 3]
47 7]
5[ 5]

( +2.8 m)
15/ R — Bk
13587 B &
12)Il £ EHR
14%  HE 1R
1646 & fF 2K

( +3.9 m)
15/ Ak — Bk
135 B &
12)Il £ B=HR
164E#F fF K
4%  HE 18

(B EEK-#%)10. 50
(#hEER; - 1) 10. 59
(Bl - %) 10. 63
(M yhas40747155) 10. 65
(AR - &) 10. 66

(mEEK-H %) 10. 46
(i@ ket - i) 10. 61
(B be - = %) 10. 62
(REAREER; - fEA) 10. 67
(1240717155 10. 78



2
op

O ~dOo TR wWwN —

90T T A A
15/ — Bk
R

13 150
121 F E=A5
TR A
16 4L 4T 4% A
AEE

(EAKET-Jek)10. 34 +2,
(BEEK-HE)10.46 +3.
(TeamAccel * T2£) 10. 50 +2.
(Yl - 1) 10. 61 +3.
(AR ke - K 5) 10. 62 +3.
(VOLVER- £ %) 10. 63 +2.
(REAREH - AEA) 10. 67 +3.
(NTN-=H)10.74 +2.
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